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Fourtier U O OFourier U0 00O UO0OOD0OO0O0O0OO0O0OO0O0O0O0ODOO0OOOOODO
Oboobobobobo0obd Fourtergoogog

5.1 OOOOODOOO

0000000000000,00000000000.0000020000
ooooo
exe000000002000000000,00000000000 C(z,y,t)
000000000000000. 000, (2,y) = (m, n)a,m,n000000
00,00 +00 ++At000,000000000000000000000
0000000.0000000,000000000000000000.0

model 1: 00000000000. 00, (z,y) 00000000 AtOO00,1/4
0000 (z+a,y)0,1/40000 (r—a,y)0,1/40000 (z,y+a)
0,1/40000 (z,y—a)0000000000.0000 t+At000
0 (z,y) 00000000 C(x, y, t+A) 00000

1
Clz,y, t+At) = Clz+a,y 1)
1
—i—ZC’(Jc—a, Yy, t)
1
+ZC(x,y+a, t)
1
+10(x,y—a, t), (5.1)
Oo00doo0o. 000,000 cooooooooooOooooooa.
a,AtDDDDDDD,(5.1)DTaylorDDDDD,
PC  9*C
_+_
oxr?  0y?

1
Q€m+0@ﬂ:i(

T ) a® 4+ 0(a®). (5.2)
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000.000 O(A?),06*) 0000, (.2)000000,2000000
0o

oC 0° 0°

E =K (w + 6_y2> C, (53)
a?

K= E > 0, (54)

gobobo.ggobb,ggbobuogoobboooob,3ggboo
gbobobooad.

gbooobooboobooobo, “coobooboobooobobooobo
00000000’00000000000000000O0O0O0O'0oO0a0
gobooobooboogbobobooboboo,bbobobo,obbo,boo
gbo.oboo,gbbbooggbbbuooobbbouoogobobod

Note: OO0 0OO0DOOOODOOO,000000O000 DOOOO,

I = / C(z, y, t)dedy (5.5)

gogobboobboodogogo. bbboodoogooboo,ooo
gobbbuogoobbbuoooobbobo,ogbbbooogooboo
g.obboggbboggobboogobbuooobobbuoooboo
gbobboogdgbbbogd.

model 2: 00000000000, O0O0O,000000000000 ¢OO,

O0000000DOooO0O0 pO0OO0. O0O0O0ODO, (z,yy OODDODOCOOOO
At000,p/40000 (z+a,y)0,p/40000 (x—a,y)0,p/400
00 (z,y+a)0,p/40000 (x,y—a)0000000000O. g+p=1
000. 00000 t+At0000 (2, 5) 00000000 Cla, y, t+At)
ooodgo

Cz, y, t + At) = gC’(x—i-a, y, t)
+ gC(l’ —a, y, t)
+ gC(x, y+a,t)

+ 20(1‘, y—a,t),
+qC(z, y, t) (5.6)

lDpoo0"00"0000000000000000O000000O00O00O0
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00000, Taylr DODOO0O, (b6)0000000O0O0O0OO (5.3)000.
gbobbuoodgobbod <0

a2

R

O00. 0<p<1000,case2000000 case 100000DOO0OO
go.

gooboboooob,bdggobobbooooobboa,onoboobogd
00000, 00000000D00C0C0C0000000. (cobooogogo
000,0000000000000.)

D, (5.7)

5.2 FourierUUOUOUOUOUOUOOOOODOOO
0000000 100000000000000000:

aC  PC

ot T oa2
000,«00000,0000000,-c<z<co0000000000 (5.8)
0000000 10000000020000000000000000000
00000000000000000 CO0000000000000000 100
0000000000 CO0000000000000000200000000
0000 C(z,0)=Cy(z), 00000

(5.8)

(@, t) |

C(l‘, t>e—ikz oo o ikx =0

|~

:(:]7

—00

ooo. 238

00000000000 +c0000000,0000000000000000000O 00
gboocobOoboooobobooooooa.

00000000000000000000000000O0D0DOOO0DO00000000 (5.8)
Oe 0000 20000 —c0o~o0o000000000000000O0OODDOOOODOO
000000oo0o0g C(z,t) 0 Fourler 0000000000000 0OO0OOO 20000 2
000000000000 00000oOoOoogoG.12)ooooooo

9C (1)

ikC (k, t)e*® dk
Or \/27r/ !
O00OOFourier OO OOO0OO
803315 .
kC(k,t) e~k q 5.9
ikO( m/ v (5.9)
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0000000000000000000,00000000.0000000
00000000000000000,0000 FowlerDOOOOOOOOOO
ooooooo.

0000000, —co<z<oo0000000,000 C(x,t) O Fourier 00
oooo,

C(z, t) ek dk, (5.12)

\/271'/
O000000.000 (5.12)00000000000000000O ek > 0000
00000 £, 000000 2¢/k00000000 C’(k,t)DDDDDDDDD
O00ooOo0oooogo

(5.12)0 (b.8) 00 0O0DODO0OODO:

dO 2 ikx _
/—oo{dt +kk C’}e dk = 0.

000 000000000000000,000000 000000000OO0.
ooog,
dC

— kK2C =0 5.13
D00D0000000D00000000 ¢ 0 Fourier 00 ¢ O (5.13) 000
O00000000000 k0000000000, k0000000 0o0oo
(5.13)0000000000000000D0. 000,000000 (5.8) 0 Foureir
0000000000000 000Ooooooooooooog.

(5.13)00 0,

C(k,t) = A(k)e " (5.14)

O0O00ooOoOoo(G.12)oooo

~ 1 0 )
C(k,t) = —/ C(z,t)e” " dz 5.10
(k1) Nz (z,1) (5.10)
0oo0OD00O0O0Ooooo
« 8C’xt -
ikC(k,t) = { — C(x,t)e” (/ —““dx} 5.11
(h,0) = {= Clanee™_+ G.)
0000(59)0 (511) 00000000000 C(x,t)e”™|7 =0000000000000

. oo
2000000000000 %&&e-ike)” —0pOoODO0

— 00
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000000.000,0000 AOO0 k00000000000000000
DDDDD,A(k)DDD.(5.14)D(5.12)DDDDD

C(z, t) v / k)ek kPt (5.15)
000.00000000000.
C(z, 0) = Co(x @/ ket dk, (5.16)
(5.16) 00000 A(k) O Fowier0O0OODODD0O0000OO
A(k) = \/LQ_W /_ Zc )e ke dy (5.17)
000000000000000, (5.15)0
C(z, t) 27T/ dk;/ da’ Cy(z')ee—2)—rk?t (5.18)

0o00. (5.18)000000,

1 [ vz [ o _ppdpliG=))’
Cle,t) = 5 da’ Co(a)e™ “m [ / dk e -5 }] (5.19)

—00

ooof
000000000 GaussOOODOOOODOOO,

o0 —k _i(z—zl) 2 e’}
/ e t{’“ 2t }dk:/ ety = L (5.20)

Kt

000 (5.19) O

(zle)Q

d:c Cola)e™ aer (5.21)

Clz, t) = 2%

goboboooo.bbuoooobobod C’O(a:)DDDDDDDDDDDDDD.
00000000 Cy(x») O d00DDOOOOOOOOODODO:

Co(x) = 0(x). (5.22)

oooo,é00000

/_OO dz'6(2") f(z — o) = f(2) (5.23)
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Oo0000, (k2)000ooooo.
1 o2

Clz, t) = W e int (5.24)

00000000 »=00000000 CcOODOODODODODODODOO
t—ooU0OOOOOOOO ODLDODOOOOOOUOOUOOOOOoooooDDbDDD
000000000000 CO0O0O0O00000000000 GaussOO (5.20)
O0000000((B24) 0 20000 —co~oco0OOOO0O

> 1
Clx.t)dx = Aokt = 1. 5.25
/OO (2, 0)de = —— x VI (5.25)

000000000000 C(z,t) D000 1000000000000 OOO0O

/OO d(z)dr =1 (5.26)

o0

0000000000000 00000000 (h200000D0D00OD0DODODODOO
gooo

5.3 Gauss[][]

Gauss O O

/ e dy = \/E, a>0 (5.27)
o o

gbbogobbood. bboog,bugobboogbbuoogbbood
gobobh. odgd,bobogoobbbuooobboooon

2

p(x) = Ae™ " (5.28)

O0obo0oo0Oo. AQ0ODOOoO0oOOoDboo10bobooogo ffooop(x)dle
O0000. 000000 GawssOUODOODO. O0O,0000000D000O000OO
Ubn0000000 anffooonp(x)deDDDD GaussU OO OGOOOO.
gb,20000000 o=M, 0000 «cO0ODO0ODOOODOOO.

O0d:

Iy(a) = /_00 e du, (5.29)



5.3. GaussO 0O

goood.

I(a)* = {/ eo‘”‘"2dx} X {/ eo‘y2dy}
= /00 dzx /OO dy e @ +v")

000 () D000000O0O0DO0O0ODO.

e} 2
I(a)* = / Tdr/ df e
0 0
2m ’

/ rdre "
0

%@V:w/ %6%:2.
0

000 r2—-<E00000000,

00000, Iy(a) =4/~
[0

GaussUOODOUODOO,00000000O00D0OOOOOODO.

[n(a)z/ e dg.

(e 9]

(9]0((1) _ /OO —ZE2 e—arzdx

O o
ooo,
_ 0ly(a)
.[1(06)— aa .
00,0000
0L (a)

45

(5.30)

(5.31)

(5.32)
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54 UQ0OOOOOO

GaussOOQOQOQOQOO

/ e @Az a >0 (5.33)

o0

ooboboboobooboboooooboboboooboobo pooboobDOnO
000000 z=2x+¢ 000000 (5.33) O

oco+if3 )
/ e dz (5.34)
—oo+i3

00000000000000000000000 f(;) 0000000000
0000000000000000000000 (—L,0) — (L,0) — (L,i8) —
(-L,if) —» (-L,0) 0000000 ¢cO0000000000000000 (5.34)
00000000000000

L 3 .
f e—azz dZ — / e—ax2 d:L’ +Z/ e—a(L+Zy)2 dy
C —L 0

—L+ip ) 0 .
+ / e dz 41 / e LWy = 0. (5.35)
L+iB B

(5.35)DDDD2DDDDDDD4DDDDDDDDe’”‘LQDDDDDDD L —
gogoobobboobbbbotbododooooob1ooooooo sguugg

guooooooobn
oco+i ) S )
/ e dz :/ e dx (5.36)

—oo+1i3 o)

O0000000000000000 (2000000000



